10mg 30mg
Study or Subgroup Mean _SD Total Mean _SD

4.1.1 Monthly migraine days

Aliani 2021 -3.7 293 214 -39 3
Goadsby 2020 -4 2.88 92 -38 27
Subtotal (95% ClI) 306

Heterogeneity: Tau? = 0.00; Chi2 = 0.76, df = 1 (P = 0.38);

Test for overall effect: Z = 0.23 (P = 0.82)

4.1.2 Monthly headache days

Aliani 2021 39 293 214 4 3
Goadsby 2020 43 384 92 -42 405
Subtotal (95% Cl) 306

Heterogeneity: Tau? = 0.00; Chiz = 0.14, df = 1 (P = 0.71);

Test for overall effect: Z=0.16 (P = 0.87)

4.1.3 Monthly medication use days

Aliani 2021 -3.7 293 214 -37 3
Goadsby 2020 -3.7 2.88 92 -39 27
Subtotal (95% Cl) 306

Heterogeneity: Tau? = 0.00; Chi? = 0.20, df = 1 (P = 0.65);

Test for overall effect: Z = 0.34 (P = 0.74)

10mg 60mg
Study or Subgroup Mean _SD Total Mean SD

4.2.1 Monthly migraine days

Aliani 2021 37 293 214 -42 298
Goadsby 2020 -4 288 92 -36 267
Subtotal (95% Cl) 306

Heterogeneity: Tau? = 0.04; Chi? = 3.83, df = 1 (P = 0.05);

Test for overall effect: Z=0.15 (P = 0.88)

4.2.2 Monthly headache days

Aliani 2021 39 293 214 -42 2.98
Goadsby 2020 43 384 92 -39 3.99
Subtotal (95% Cl) 306

Heterogeneity: Tau? = 0.01; Chi? = 1.60, df = 1 (P = 0.21);

Test for overall effect: Z=0.18 (P = 0.86)

4.2.3 Monthly medication use days

Aliani 2021 -3.7 293 214 -39 298
Goadsby 2020 -3.7 2.88 92 -3.5 267
Subtotal (95% Cl) 306

Heterogeneity: Tau? = 0.00; Chi2=0.77, df = 1 (P = 0.38);

Test for overall effect: Z = 0.23 (P = 0.82)

30mg 60mg
Study or Subgroup Mean _SD Total Mean _SD

4.3.1 Monthly migraine days

Aliani 2021 -3.9 3 223 42 298
Goadsby 2020 -3.8 27 182 -3.6 267
Subtotal (95% ClI) 405

Heterogeneity: Tau? = 0.01; Chi? = 1.51, df =1 (P = 0.22);

Test for overall effect: Z=0.22 (P = 0.83)

4.3.2 Monthly headache days

Aliani 2021 4 3 223 -42 298
Goadsby 2020 42 405 182 -3.9 3.99
Subtotal (95% Cl) 405

Heterogeneity: Tau? = 0.00; Chi? = 0.99, df = 1 (P = 0.32);

Test for overall effect: Z = 0.05 (P = 0.96)

4.3.3 Monthly medication use days

Aliani 2021 -3.7 3 223 -39 298
Goadsby 2020 -39 27 182 -3.5 267
Subtotal (95% ClI) 405

Heterogeneity: Tau? = 0.01; Chiz = 2.30, df = 1 (P = 0.13);

Test for overall effect: Z = 0.33 (P = 0.74)
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